
2���(� A)B ;�# τ = (s− 1)ν� �� �(���� �0 ��8� ��8�$.����  ��1<��#0� ;�'���#�& ���� #�
2���(# A)B ;�# τ = sν� �$. ���8� A� �$�8#( � �;#'�  �0� %���B '���#�'. �;�#0�$& �.
;��8��00� 2���(# AuB ;�# k = s # 2 �(� ## N ! ������� 1�$�  ���� � % ��2�$&���� ���� #.
2���(# A)B ;�# τ = (s− 1)ν! ' ;�'$���-?#0 %��&#��%� #�0 N � � ��2�$&���� 1����  ���� �
0�0� � t∗ A2 �(� #� NB # �;�#0�$& �. ;��8��00� u0

sν(t) = u0(t | sν, x∗(sν))! t ∈ Tsν(t∗) 2�,
��(# AuB! ;�# ������< ��#���#� ��(�'�%� 2���(# A)B ��'�#8��� 0# #0�$& �8� 2 �(� #.� C��
�;��%$� #� #';�$&2���'. ��8�$.����0  � ;��0�/���� %��0� # [sν, (s + 1)ν[� u∗(t) = u0

sν(t)!
t ∈ [sν, (s + 1)ν[�

��1��� �;#'�  �8� ��8�$.���� ;��8��00 � ���$#2�%� �  � .2��� c��! ;��'(#�� �.�
��'��%�< ;�#0���%�
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� ��  �0 '��1?� ## 0� <��#0 �1���#�& % #0� #�  � ��� 3���! (�� �$. #''$���%� #.
���< ��%�$& � ��2 �< ;� '%��� ;�#���� 2���( ~ 2���(# ��'$�/#%� #. ���$�  �8� �%#/�,
 #.! 2���(# #8��%�8� �;��%$� #. # 2���(# �# �0#(�'��8� %�''�� �%$� #. %<��� , 0�/��
1��& #';�$&2�%� ��# �� ;��<��! �' �%�  ��  � 0����� %';�0�8���$& �< 0���$�� �96t��
�����/���$& � '��& ��''0���#%��0�< 2���( '�'��#� % '$���-?�0� �� ;��0�/���� %��0�,
 # T 3#�'#��%� � ��% �0�� �. '���� Δ = {τi}mi=0! τi = τi−1 + δ! τ0 = t0! τm = ϑ� 	0���'.
 �������. '#'��0� Σ� �� ���� #� x(·) = x(·; t0, x0, u(·), v(·)) Ax(t) ∈ HB 2�%#'#� �� #20� .,
-?�8�'. %� %��0� # �;��%$� #. u(·) #  �#2%�'� �8� %�20�?� #. v(·)� "� �4#. x(·) ���/�
 �#2%�'� �� � 0�0� �� τi ∈ Δ 3�2�%�� '�'��. #� x(τi) #20��.��'. ' ��#1���� ��2�$&����
#20��� #� ~ �$�0� �� ξhi ! i ∈ [0 : m− 1] ~ ���%$��%��.-�  ���%� '�%�0

|ξhi − x(τi)|H ≤ h.

���'& h ∈ (0, 1) ~ %�$#(# � # 3��0�4#�  �� ;�8��� �'�#! H ~ 8#$&1����%� ;��'��� '�%��
7����� �! *���%���
 �!�*����>� �%�����
� S���;�$�8���'.! (�� v = v(t) ≡ 0!

t ∈ T � ���� � (#'$� ε > 0� 	0���'. ���$�  �� �%#/� #� g(·)! �;#'�%��0�� ��0 /� '��� �,
�� #�0! (�� # Σ! % ������0! �� ���! v ≡ 0! � u = u∗(t)� S�# ���0 ��� 3� �4#. u∗(·)! ��� #
g(·)  �#2%�'� �� 	2%�'� � $#�&! (�� u∗(t) ∈ D∗ ;�# ;�%� t ∈ T ! 8�� D∗ 2���  �� 0 �/�'�%��
� 0�0� �� τi ∈ Δ  ��.�� ' x(τi) #20��.��'. A' ��#1���B '�'��. #� g(τi)� ��2�$&���� #2,
0��� #�  ���( �� ���1���'. ���2��& �$8��#�0 3��0#��%� #. ;� ;�# 4#;� �1��� �� '%.2#
�;��%$� #. u = u(t) ∈ P ! t ∈ T ! �����! (�� ��������#. Σ �'�� ��'. ;�# %'�< t ∈ T %
��% �0�� �� ε,����'� �'�# ���$�  �8� �%#/� #.�

7����� ��w� !��>� >�������>� �(��%*���
� S�'�& 3#�'#��%� � P # Q ~ 3#�,
'#��%�  �� 0 �/�'�%�� ���� �  �;�'��� 0 �/�'�%� N # (#'$� ε > 0� ���1���'. ���2��&
�$8��#�0 3��0#��%� #. ;� ;�# 4#;� �1��� �� '%.2# �;��%$� #. u = u(t) ∈ P ! t ∈ T !
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'#'��0� Σ! �1$���-?#� '$���-?#0# '%��'�%�0#� ����%� 1�  # 1�$� %�20�?� #� v(·)!
v = v(t) ∈ Q! t ∈ T ! ��''��. #� �� 3�2�%�8� '�'��. #. x(t) = x(t; t0, x0, u(·), v(·)) % 0�0� �
t = ϑ �� 0 �/�'�%� N  � ��$/ � ;��%����& 2 �(� #. ε�

7����� �������� ��>� �w��r���
� S�'�& u = u(t) = 0! t ∈ T � ���1���'. ;�'���#�&
�# �0#(�'�#� �$8��#�0! ������� ;�2%�$.�� %�''�� �%#�&  �#2%�'� �� %<�� A%�20�?� #�B
v = v(·) % =���$& �0 %��0� #>�
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�� 9� !���%�� +������ � ��  �� ��1��� ��''0���#%���'. '$���-?�� �1�1?� #� 2���(#
;�(��$&� �� S���;�$�8���'.! (�� % �1�';�(� ## �%#/� #. ;�(��$&� � ;� 0������� �(�'�,
%��� �� �( �� (#'$� �8� ��% A%���0'�%B # ��/��� #2  #< '���0#�'. 0# #0#2#��%��& '%�#
2������� ��  �. 0���$& ;�.%$.��'. ;�# � �$#2� ��1��� 3#�0�! ;����-?�� ��%��� �$#,
��$& �8� ;����1$� #.�

���8�%�0� ;���'��%#��$- 3#�0�  ��1<��#0� ;�'��#�& %'�< ;��� 4#�$& �< ;���;���,
$��! ��';�$�8�-?#<'. %��$& 0������� �8� '$���%� #.! # %�� ��&'. �1��� �  � 3#�0��
�%#/� #� ;���'��%#��$. ;� 0������� �1�';�(#%�-� ��2$#( �� ����$� 3#�0� A�8� ��B�
���1<��#0� %�1���& �;�#0�$& �� ;��& �1<��� 0�������! �(#��%�. ��2$#( �� # ����'�
%'�< ����$�% 3#�0� A�8� ��%B� � ��(�'�%� ��#���#. �;�#0�$& �'�# ;�# #0���'. ��0;��,
0#'' �� ���� #��

��  �. 2���(� 3��0�$#2���'. '$���-?#0 �1��2�0�
��''0���#%���'. 1�'���$#4#�  �. #8�� n $#4

Γ = {I = {1, . . . , n}, {Rj}nj=1, {H
j
i }ni=1

m

j=1, {A
j
i}ni=1

m

j=1}, 8��

I ~ 0 �/�'�%� �8� ��%! Rj~ 0 �/�'�%� ;���� �1<��� 0�������! ���#< (�� ��/��� #2
 #< %�$-(��� ��/��� ��1�� ;� ���� �� 0��� ��# ��2 # 2��� (#%���'. % %���# � �%#/�,
 #.� Hj

i ~ %�?�'�%�  �. 3� �4#. #2���/�� �8� �� i  � j6�0 ;��#! Aji ~ '�00�! �������
��';�$�8��� �8� � i �$. �1�';�(� #. �%#/� #. ��< #�# ;� j6�0� ;��#�

S���� ��/��0 �8� ��0 '��#� 2���(� 0# #0#2�4## 3� �4#� �$� G = Aji −Hj
i �

S�'���#0 0���#4� ��<���% �8� ��%! % ������� '����# '���%��'�%�-� %�1��  �0 ;��.0!
'��$14� ~ �1'$�/#%�-?#0 �8� ��0�⎛⎜⎝ A1

1 −H1
1 . . . A1

n −H1
n

���
���

Am1 −Hm
1 . . . Amn −Hm

n

⎞⎟⎠
��0;��0#'' �� ���� #� �$. 0���#4� ��<���% .%$.��'. #'��0�0 �;�#0�$& �0 ;���0�
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